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R4 0 0191 A
e = S £
X i (RB: B0l TBe: Y m m IR % 1 O FlE R fifi e
HOJE HOE | B | B OB | B OB | hrx & T8 A it 7 i
m

ITNSRZ e ] 6. 50 13. 00 4.00 1.50 0.75 36.0 0.0 0. 36. 36.0(7 2 7 7 /v &k
0.0 0 36 6. 50 4. 00 1.00

ITNSRZ N 6. 50 13. 00 4.70 0. 00 0.25 59.0 0.0 0. 59. 95.0|7 27 7 /L bk
0.0 36 95 6. 50 4. 40 0.25

ITNSR= N e ] 6. 50 13. 00 3.70 0. 00 0.50| 1,671.0 0.0 0. 1,671. 1,766.0[7 27 7 v &k
0.1 0 65 6. 50 3.80 0. 50

IIN=RZ N = ] 6. 50 13. 00 3.80 0. 00 0. 50 70.0 0.0 0. 70. 1,836.0|7 27 7 /L hAfidk
1.7 65 33 6. 50 3.75 0. 50

ITNSRZ N e ] 3.25 6. 50 2.70 0. 00 1.25 177.0 0.0 0. 177. 2,013.0|7 27 7 /L &Lk
1.8 33 0 3.25 3.10 1.25

ITN=R- N ] 3.25 8. 00 2.90 0. 00 0. 50 318.0 0.0 0. 318. 2,331. 0|7 2 7 7 v it
2.0 0 18 4.75 2. 90 0. 50

(ITNSRZ N e ] 4.15 7.40 2.80 0. 00 0. 50 102.0 0.0 0. 102. 2,433.0|7 27 7L Lk
2.3 18 24 3.25 3.10 0.50

IIN=R= N ] 3.25 6. 50 2.90 0. 00 1.00 301.0 0.0 0. 301. 2,734. 0|7 2 7 7 v 1 it
2.4 24 20 3.25 3.50 1.00

(ITNSRZ e ] 3.25 6. 50 3.20 0. 00 0.75 40.0 0.0 0. 40. 2,774. 0|7 27 7 )L &4k
2.7 20 60 3.25 3.50 0.75

IIN=R= N ] 3.75 7.00 1.80 0. 00 0.75 35.0 0.0 0. 35. 2,809.0(7 2 7 7 v &%k
2.7 60 95 3.25 3.70 0.75

ITY=)= 0 =5 4.00 8. 00 2.20 0. 00 0.75 20.0 0.0 0. 20. 2,829. 0|7 A7 7 )b &%k
2.8 0 20 4. 00 2. 60 1.75

IIN=R- N 4.00 7.75 2.20 0. 00 1.25 68. 6 0.0 27. 96. 2,925.0(7 2 7 7 v ik
2.8 20 20 3.75 2. 50 1.25

(ITNSR= e ] 3.25 6. 50 2. 60 0. 00 1.00 917.0 0.0 0. 917. 3,842. 0|7 A7 7 /b Mk
2.9 20 40 3.25 3.00 1.00

ITN=R- N = ] 4.85 9.70 1.70 0. 00 0. 50 119.0 0.0 0. 119. 3,961. 0|7 % 7 7 )L a4k
3.8 40 37 4.85 2. 40 0. 50

ITNSR= e ] 6. 50 13. 00 2.00 0. 00 0. 00 814.0 0.0 0. 814. 4,775.0|7 27 7 L &%k
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3.9 37 ~ 4.7 60 6.50 3.80 0. 00

A BB 6.75 10. 25 3.50 0. 00 0. 50 309. 0 0.0 0.0 309. 0 5,084. 0|7 A 7 7 L &%k
4.7 60 ~ 5.0 75 3.50 3. 60 0. 50

R B 6. 50 10. 25 1.70 0. 00 0.50 228.0 0.0 0.0 228.0 5,312. 0|7 A7 7 )b Mi%E
5.0 75 ~ 5.2 99 3.75 2.30 0. 50

A BB 6. 00 9.75 5.20 0. 00 0.75 81.0 0.0 0.0 81.0 5,393. 0|7 2 7 7 L hA%E
5.2 99 ~ 5.3 60 3.75 2. 50 0.75

R BE 6. 25 10. 00 2.50 0. 00 0.75| 2,403.8 0.0 63. 2 2,467.0 7,860.0(7 2 7 7 v 1k
5.3 60 ~ 7.8 33 3.75 1.90 0.75

A BB 6. 50 10. 25 1.10 0. 00 0.75| 1,886.8 0.0 25.2 1,912.0 9,772. 07 2 7 7 /v 1 &tk
7.8 33 ~ 9.7 60 3.75 2. 00 0.75

W R BE 3.50 7.00 1.70 0. 00 1.00 155. 0 0.0 0.0 155. 0 9,927.0|7 A7 7 )L |k
9.7 60 ~ 9.9 30 3.50 2. 00 1. 00

A BT BE 3.25 6. 50 3.70 0. 00 0. 25 656. 0 0.0 0.0 656. 0 10,583.0|7 &2 7 7 /L &%k
9.9 30 ~ 10.5 80 3.25 2.10 0. 50

R BE 3. 00 6. 25 1.90 0. 00 0.25 762.0 0.0 0.0 762.0( 11,345.0|7 A7 7 )b ML
10.5 80 ~ 11.3 40 3.25 2. 80 0. 50

A R B 3.00 6. 25 1.90 0. 00 0. 25 205. 0 0.0 0.0 205. 0  11,550.0|7 &2 7 7 /L &%k
11.3 40 ~ 1.5 39 3.25 2.10 1.75

W R BE 3. 00 6. 25 3.00 0. 00 0.25 167.0 0.0 0.0 167.0( 11,717.0(7 27 7 /v M
1.5 39 ~ 11.7 5 3.25 3.50 1. 50

A BB 3.00 6. 25 3.20 0. 00 1.00 52.0 0.0 0.0 52.0| 11,769.0(7 %7 7 v b &%k
11.7 5 ~ 11.7 57 3.25 3.50 0.75

W R B 3. 00 6. 00 2.70 0. 00 1.00 185.0 0.0 6.0 191.0f  11,960.0(7 27 7 /v hf%E
11.7 57 ~ 1.9 49 3.00 2. 20 1.50

A R B 3.00 6. 00 1.90 0. 00 1.00 9.0 0.0 0.0 9.0 11,969.0|7 %7 7 /L Mk
1.9 49 ~ 1.9 58 3.00 0. 00 2. 60

W R B 3.00 6. 00 0. 00 0. 00 3.75| 1,204.3 0.0 16.7 1,221.0  13,190.0|7 A 7 7 )L hiffids
1.9 58 ~ 13.1 80 3.00 0. 00 0.75
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o A R B 3.00 6. 00 1.50 0.00 0.75 180.0 0.0 0.0 180.0 13,370.0|7 A 7 7 /b - éfidE
13. 1 80 ~ 13.3 60 3.00 0.00 0.75

o A W B 3.00 6. 00 1.00 0.00 0. 50 565. 0 0.0 0.0 565. 0 13,935. 0|7 A7 7 v %k
13.3 60 ~ 13.9 26 3.00 0.00 0.75

oA R B 3.00 6. 00 1.25 0.00 0.50 244.0 0.0 0.0 244.0 14,179.0|7 A 7 7 )b %k
13.9 26 ~ 14. 1 62 3.00 0.00 2.00

i W B 3.00 6. 00 1. 60 0.00 0. 50 196.2 0.0 5.8 202.0 14,381. 0|7 A7 7 v Nidk
14. 1 62 ~ 14.3 60 3.00 1.50 0.50

o R B 3.25 6.25 1. 60 0.00 1.25 90.0 0.0 0.0 90.0 14,471, 0|7 A 7 7 )b %
14.3 60 ~ 14. 4 60 3.00 2.40 0.50

i B B 3.25 6. 25 1.70 0.00 1. 00 51.0 0.0 0.0 51.0 14, 522. 0|7 A7 7 v %k
14.4 60 ~ 14.4 111 3.00 2.60 0.50

o R B 3.25 6.75 2.50 0.00 1.00 42.0 0.0 0.0 42.0 14,564. 0|7 A 7 7 )b &%
14.5 0~ 14.5 42 3.50 1.60 1. 00

oA W B 3.25 6. 75 1. 50 0.00 1.25 43.0 0.0 0.0 43.0 14, 607. 0|7 A 7 7 /v %k
14.5 42 ~ 14.5 85 3.50 1.60 1. 00

o R B 3.25 6.75 1.50 0.00 1.00 436. 7 0.0 9.3 446.0 15,053. 0|7 A 7 7 /b b #fid
14.5 85 ~ 15.0 46 3.50 1.50 1.00

i A W B 3.25 6. 50 1.40 0.00 1. 00 170.0 0.0 0.0 170.0 15,223. 0|7 A7 7 v %k
15.0 46 ~ 15.2 13 3.25 2.10 0.75

o W B 3.25 6.50 2.60 0. 00 0.75 244.0 0.0 0.0 244.0 15,467.0|7 A 7 7 /b - &fidE
15.2 13 ~ 15.4 51 3.25 1.20 0.75

oA W B 3.00 6. 00 0.00 0.00 1. 00 181.0 0.0 0.0 181.0 15, 648. 0|7 A 7 7 v %k
15.4 51 ~ 15.6 32 3.00 1.20 0.50

o W B 3.00 6. 00 0.00 0.00 0.75 464. 0 0.0 0.0 464. 0 16, 112. 0|7 A 7 7 v %k
15.6 32 ~ 16.0 100 3.00 1.20 0.50

oA W B 3.00 6. 00 0.00 0.00 0. 50 188.0 0.0 0.0 188.0 16, 300. 0|7 A 7 7 L | Efidk
16. 1 0~ 16.2 90 3.00 1.50 0.50

oA W B 3.00 6. 00 1. 80 0.00 0.50 594.0 0.0 0.0 594. 0 16,894. 0|7 A 7 7 /b - #fidE
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16.2 90 ~ 16.8 86 3. 00 2.50 0.75

A BB 3.00 6. 00 3.50 0. 00 0.75 363.1 0.0 13.9 377.0|  17,271.0|7 A 7 7 /LM%
16.8 86 ~ 17.2 60 3.00 0. 00 0.75

R B 3. 00 6. 00 0.00 0. 00 1.00 273.0 0.0 0.0 273.0|  17,544.0|7 A7 7 )L |Gk
17.2 60 ~ 17.5 18 3.00 0. 00 1. 00

A BB 3.00 6. 00 0. 00 0. 00 1.00 175.6 0.0 8.4 184.0| 17,728.0|7 A 7 7 /b bk
17.5 18 ~ 17.7 21 3.00 2.50 1. 00

R BE 3. 00 6. 00 0.00 0. 00 0.50 600.0 0.0 4.0 604.0| 18,332.0|7 A7 7 /L |k
17.7 21 ~ 18.3 20 3.00 0. 00 0. 50

A BB 3.00 6. 00 0. 00 0. 00 0. 50 79.1 0.0 5.9 85.0| 18,417.0|7 A 7 7 /b bk
18.3 20 ~ 18.4 5 3.00 0. 00 1. 00

W R BE 3.00 6. 00 0.00 0. 00 2.00 272.0 0.0 0.0 272.0] 18,689.0|7 A7 7 /L |k
18. 4 5 ~ 18.6 58 3.00 0. 00 1. 00

A BT BE 3.00 6. 00 2.00 0. 00 1.00 220. 0 0.0 0.0 220.0( 18,909.0|7 &2 7 7 /L &%k
18.6 58 ~ 18.8 78 3.00 2. 20 1.00

R BE 3. 00 6. 00 2.20 0. 00 0.75 350. 0 0.0 0.0 350. 0| 19,259.0|7 A7 7 )b %
18.8 78 ~ 19.2 50 3.00 0. 00 1. 00

A R B 3.00 6. 00 1.00 0. 00 0. 50 24.0 0.0 0.0 24.0| 19,283.0(7 %7 7 v &k
19.2 50 ~ 19.2 84 3.00 0. 00 1.00

W R BE 3. 00 6. 00 2.20 0. 00 0.75 292.0 0.0 0.0 292.0] 19,575.0|7 A7 7 /L |k
19.2 84 ~ 19.5 73 3.00 0. 00 0. 50

A BB 3.00 6. 00 2.20 0. 00 0.75 49.0 0.0 5.0 54.0| 19,629.0(7 %7 7 v b &k
19.5 73 ~ 19.6 27 3.00 0. 00 0.25

W R B 3. 00 6. 00 2.20 0. 00 0.75 341.4 0.0 2.6 344. 0| 19,973.0|7 A7 7 )b Mk
19.6 27 ~ 19.9 71 3.00 0. 00 0.75

A R B 3.25 6. 25 2.20 0. 00 0. 50 594. 6 0.0 8.4 603.0  20,576.0|7 X 7 7 /L Fa%E
19.9 71~ 20.5 71 3.00 0. 00 0.75

W R B 3. 00 6. 00 2.20 0. 00 0.50 259.0 0.0 0.0 259.0]  20,835.0|7 A7 7 /L |k
20.5 71 ~ 20.8 30 3.00 0. 00 0.75
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ITNSRZ e ] 3.00 6. 00 2.20 0. 00 0.50 197.0 0.0 0. 197. 21,032.0|7 2 7 7 L ik
20.8 30 21. 29 3.00 0. 00 0. 50

ITNSRZ N 3.00 6. 00 2.20 0. 00 0.75 152.0 0.0 0. 152. 21,184. 0|7 2 7 7 /L Ml
21.0 29 21. 81 3. 00 0. 00 0. 50

ITNSR= N e ] 3.00 6. 00 2.20 0. 00 0. 50 301.0 0.0 0. 301. 21,485. 0|7 2 7 7 L ik
21.1 81 21. 73 3.00 0. 00 0.75

IIN=RZ N = ] 3.00 6. 00 1.70 0. 00 0. 50 218.0 0.0 5. 223. 21,708. 0|7 2 7 7 /L bk
21. 4 73 21. 5 3.00 0. 00 1. 00

ITNSRZ N e ] 3.00 6. 00 0.00 0. 00 1.00 113.0 0.0 0. 113. 21,821. 0|7 A 7 7 /b Mk
21.7 5 21. 6 3.00 0. 00 1. 00

ITN=R- N ] 3.00 6. 00 1.20 0. 00 0. 50 188.0 0.0 0. 188. 22,009. 0|7 2 7 7 /L bk
21.8 6 21. 89 3.00 0. 00 0.75

(ITNSRZ N e ] 3.00 6. 00 0. 80 0. 00 0.25 14.0 0.0 0. 14. 22,023.0|7 A2 7 7 )L MLk
21.9 89 22. 7 3.00 0. 00 0. 50

IIN=R= N ] 3.00 6. 00 1.20 0. 00 0.25 49.0 0.0 0. 49, 22,072. 0|7 2 7 7 /L bk
22.0 7 22. 56 3.00 0. 00 0.25

(ITNSRZ e ] 3.00 6. 00 1.50 0. 00 0.50 622. 1 0.0 16. 639. 22,711. 0|7 2 7 7 L i
22.0 56 22. 2 3.00 0. 00 0. 50

IIN=R= N ] 3.00 6. 00 1.50 0. 00 0.25 232.0 0.0 0. 232. 22,943. 0|7 2 7 7 /L bk
22.7 2 22. 27 3.00 0. 00 0. 50

(IINSRZ e ] 3.25 6. 50 2.20 0. 00 0.50 98.0 0.0 0. 98. 23,041. 0|7 A2 7 7 /L Mk
22.9 27 23. 39 3.25 0. 00 0. 50

IIN=R- N 3.25 6. 50 2.20 0. 00 0.75 146. 0 0.0 0. 146. 23,187.0|7 2 7 7 /L Mk
23.0 39 23. 85 3.25 0. 00 0. 25

(ITNSR= e ] 3.25 6. 50 2.20 0. 00 0.75 655.0 0.0 0. 655. 23,842. 0|7 A 7 7 JL Nk
23.1 85 23. 40 3.25 0. 00 1. 00

ITN=R- N = ] 3.50 6. 75 0. 00 0. 00 1.00 261.0 0.0 0. 261. 24,103. 0|7 2 7 7 /L bk
23.8 40 24. 8 3.25 0. 00 1. 00

ITNSR= e ] 3.00 6. 25 1.00 0. 00 0.25 374.2 0.0 2. 377. 24, 480. 0|7 2 7 7 /b &k
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24. 1 8 ~ 24.4 85 3.25 0. 00 1. 00

A BB 3.00 6. 00 1.00 0. 00 0. 25 0.7 0.0 6.3 7.0]  24,487.0|7 A7 7L hAfk
24.4 85 ~ 24.4 92 3.00 0. 00 0.25

R B 3. 00 6. 00 1.00 0. 00 0.75 128.0 0.0 0.0 128.0( 24,615.0(7 27 7 /v M
24.4 92 ~ 24.6 20 3.00 0. 00 1. 50

A BB 3.00 6. 00 1.00 0. 00 0. 25 80.0 0.0 0.0 80.0| 24,695.0|7 A7 7 /L h&fdk
24.6 20 ~ 24.7 0 3.00 0. 00 1. 00

R BE 3. 00 6. 00 2. 00 0. 00 0.25 1.7 0.0 41.3 43.0( 24,738.0(7 27 7 v MEEE
24.7 0 ~ 24.7 43 3.00 0. 00 0.25

A BB 3.25 6. 50 2.20 0. 00 0.50| 1,459.4 0.0 5.6 1,465.0]  26,203.0|7 A7 7 /L bk
24.7 43 ~ 26.2 16 3.25 0. 00 0.75

W R BE 3.25 6. 50 1.70 0. 00 1.00 122.0 0.0 0.0 122.0( 26,325.0(7 27 7 /v M
26. 2 16 ~ 26.3 38 3.25 1.50 0. 50

A BT BE 3.00 6. 00 1.00 0. 00 0. 50 232.0 0.0 0.0 232.0  26,557. 0|7 27 7 /L hA%E
26.3 38 ~ 26.5 170 3.00 0. 00 1.25

R BE 3.25 6. 50 1.70 0. 00 0.25 195.5 0.0 4.5 200.0| 26, 757.0|7 A7 7 /L |k
26.5 70 ~ 26.7 70 3.25 0. 00 0. 50

A R B 3.25 6. 50 2.00 0. 00 0. 25 710. 6 0.0 6.4 717.0|  27,474.0|7 A 7 7 )L M4k
26.7 70 ~ 27.4 15 3.25 0. 00 1.00

W R BE 3.25 6. 50 2.20 0. 00 0.25 473.0 0.0 0.0 473.0|  27,947.0|7 A7 7 )L |k
27.4 75 ~ 27.9 45 3.25 0. 00 0. 50

A BB 3.25 6. 50 1.00 0. 00 0. 50 197.0 0.0 0.0 197.0|  28,144.0|7 A 7 7 /b bk
27.9 45 ~ 28. 1 40 3.25 0. 00 0.75

W R B 3.25 6. 25 2.20 0. 00 0.50 452.0 0.0 7.0 459.0]  28,603.0|7 A7 7 /L |k
28. 1 40 ~ 28.6 0 3.00 0. 00 0. 50

A R B 3.25 6. 50 0. 00 0. 00 0.50| 2,894.0 0.0 0.0 2,894. 0  31,497.0[7 % 7 7 v bk
28. 6 0~ 3.4 60 3.25 0. 00 0. 50

W R B 3.25 6. 50 2.20 0. 00 0.25 288.0 0.0 0.0 288.0| 31,785.0|7 A7 7 /L |k
31.4 60 ~ 31.7 46 3.25 0. 00 0.75
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ITNSRZ e ] 3.25 6. 50 2.20 0. 00 0.25 363.0 0.0 0. 363. 32,148. 0|7 2 7 7 L ik
31.7 46 32. 8 3.25 0. 00 0. 50

ITNSRZ N 3.25 6. 50 2.20 0. 00 0. 50 170.0 0.0 0. 170. 32,318.0|7 2 7 7 /L Mk
32.1 8 32. 79 3.25 0. 00 0. 50

ITNSR= N e ] 3.25 6. 50 2.20 0. 00 0. 50 255.0 0.0 0. 255. 32,573.0|7 2 7 7 L ik
32.2 79 32. 36 3.25 0. 00 1. 00

IIN=RZ N = ] 3.25 6. 50 1.50 0. 00 0.25 68.0 0.0 0. 68. 32,641. 0|7 2 7 7 /L bk
32.5 36 32. 4 3.25 0. 00 1. 00

ITNSRZ N e ] 3.25 6. 50 2.20 0. 00 1.00 151.0 0.0 0. 151. 32,792.0|7 A 7 7 )L Nk
32.6 4 32. 55 3.25 0. 00 1. 00

ITN=R- N ] 3.25 6. 50 2.20 0. 00 1.00 105.0 0.0 0. 105. 32,897.0|7 2 7 7 /L Mk
32.7 55 32. 60 3.25 2.20 0.75

(ITNSRZ N e ] 3.25 6. 50 1.30 0. 00 0. 50 134.0 0.0 0. 134. 33,031. 0|7 2 7 7 L ik
32.8 60 32. 94 3.25 0. 00 0.75

IIN=R= N ] 3.25 6. 50 1.20 0. 00 0.25 266. 0 0.0 0. 266. 33,297. 0|7 2 7 7 /L bk
32.9 94 33. 55 3.25 0. 00 0.75

(ITNSRZ e ] 3.25 6.25 1.50 0. 00 0.25 103.0 0.0 0. 103. 33,400. 0|7 2 7 7 L ik
33.2 55 33. 59 3.00 0. 00 0. 50

IIN=R= N ] 3.25 6. 50 1.20 0. 00 0.25 91.0 0.0 0. 91. 33,491. 0|7 2 7 7 /L bk
33.3 59 33. 53 3.25 0. 00 0. 50

(IINSRZ e ] 3.25 6. 50 2.20 0. 00 0.75 18. 4 0.0 13. 32. 33,523.0| 7 2 7 7 v Mgk
33.4 53 33. 85 3.25 0. 00 0. 50

IIN=R- N 3.25 6. 50 0.80 0. 00 0.75 105.0 0.0 0. 105. 33,628.0|7 2 7 7 /L bk
33.4 85 33. 85 3.25 0. 00 1. 00

(ITNSR= e ] 3.25 6. 50 0. 80 0. 00 0.25 121.0 0.0 0. 121. 33, 749. 0| 7 2 7 7 v &k
33.5 85 33. 7 3.25 0. 00 0.25

ITN=R- N = ] 3.25 6. 50 0. 00 0. 00 0.75 98.0 0.0 0. 98. 33, 847. 0|7 2 7 7 /L Mk
33.7 7 33. 5 3.25 0. 00 0. 50

ITNSR= e ] 3.25 6. 50 0. 00 0. 00 0.75| 1,897.4 0.0 24. 1,922. 35,769. 0|7 A 7 7 /L Nk
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